X Zhautykov Olympiad on Mathematics, Physics and Informatics
Almaty, Kazakhstan, January 12-18, 2014

Problem B. Bank

Input file: bank.in

Output file: bank.out

Time limit: 1 second

Memory limit: 256 megabytes

Feedback points only

Grading system only full solution for subtask receives points
N people came to some bank to get their salary of a,aq,...,ayx tenge. There are total M banknotes left
in the bank with values by, b, ...,bys tenge correspondently.

You need to determine whether bank is able to give exact salary to all people using given banknotes or
not.

Input
First line of input file contains two integers N and M — number of people and number of banknotes.
Second line contains N integers aj,asg,...,ay (1 < a; < 1000) — salary values. Third line contains M
integer numbers by, by, ..., by (1 < b; < 1000) — values of banknotes .
Output
The output file must contain one word «YES», if bank is able to pay salary. In opposite case output «NO».
Examples
bank.in bank.out

15 YES

8

42513

26 NO

9 10

5486 3 11
Note
Subtask 1 — 19 points (N =1, 1 < M < 20)
Subtask 2 — 25 points (1 < N, M < 10)
Subtask 3 — 27 points (1 < N <20, M < 14)
Subtask 4 — 29 points (1 < N, M < 20)
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